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He plowed a year and seeded two years, etc. — 71> 290w ¥91 73w 7792

OVERVIEW

The ®n>92 cites a NP1 between the 0201 who maintain that whether ya1 mw 772
D°NW or 7IW 7Y 2’ 771 that it 1s not a 7Pt and XX 'Y who maintains that in both
cases it is a 1. Our MoOIN clarifies this nPYonn.
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The X072 does not mention AR 71w Y1 2°nw 791 for the purpose of letting us
know that the 0°»21 maintain that it is not a 72117, but rather the Xn>12 teaches it to
us because of the novelty of s'SnX '3 position that even though he was 1 773,
nevertheless it is a 7P,

mooIn clarifies the view of XX ":
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And the "1 maintains that regarding the 7P of plowing, it is only for

instance where he plowed one year and planted the second year and plowed the

third year, then it is a 7P according to X" -
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However if he plowed two consecutive years, even X''% admits that it is not a 7P -
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For what benefit is there from plowing so much, that he plows it for two
consecutive years without planting.

SUMMARY
X" maintains ' ¥971 '2 771 1s a AP0 only if it was 7711 ¥IN 7L

THINKING IT OVER

The X713 states shortly that 7°1 is a 7P (according to X"7), because a person will
not stand by and be quiet when someone plows his land. Why then does n1901n
assume that two consecutive years of plowing is not a 7p1; seemingly the same
reason applies that PN RYIRD 712 12707 WK 1°2Y XY (and what about three years
of [only] 71)?!

! The o*»>n maintain that (even) if he was '2 ¥ 'R 771 it is not a 7p1A, o why mention (in the position of the 0 1>m)
that 'X ¥711 "2 771 is not a 7IpIM; it is so obvious!
% The n"a7 Mt amends this to read, RP17 7717 prx> (but not 7XN17).
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